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poslulates of Bohr regalding bjs atomic model and hence obtaid

elecron energy of rhe z'' orbir. Hcnce show Lhar rhe

c radiation emitted in a trarsition between two states of a Bohr atom is

wavelength )"" of the H, -/iae in the Balmer series of l1-atom and show
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is the wavelength ofthe radiation, -R is the Rydberg constant and 4, and ,/

1 _ 5,Rs
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Rydberg constart for A-alom.

Rydberg constant, if the wavelength of ff, - line is 6563xI0 10 m.

what do you understand by photoelectric effect and give Einstein's

photoelechic effect.

a threshold wavelengtl of 6002,'r. Find the stopping potentials when

with:

ic light of wavelength 400rn.

twice the frequency and tlree times the inte$ity of wavelength

by Compton Effect?

wavelength of a photon subject to Compton scattering by an

= " (1- Cos d)

angle of the photon and other symbols have their usual



A.beam.of X- lays of wav€length 0.0lztt is incident oo a c&rbon target. The

rayiJ are detected at an angle of 600 lo the dircction of the incident beam. F

wav€length of the scattered X-rays.

4. writ€ down the tim€ independent Schrddinger equation in a rectangular

ordiDate system, for a particle ofmass ,n and the €nerg'y E moving in a potential

particle ofmass t and the energy E moves iNide a potential well Z(t) as shown

figure.

Z(r)=0 for 03.r3a,

V(x) --> at fot x<0 and x>a

Writ€ down the time independent Schtrddinger equation for the motio!

particle.

b, State clearly the boundary coqditions and the nomalization condition lor

wave function.

c. Using the above conditions, show that the wave function ofthe particle is

by:

v ="F-si,(t!\*.\a \a )


